	Model
	AIC
	ΔAIC

	crushing=Ca+P+fish+Nymphaea+density
	52.43
	0.00

	crushing=P+Nymphaea
	55.23
	2.80

	crushing=Ca+fish+Nymphaea
	55.46
	3.03

	crushing=Ca+P+Nymphaea
	55.59
	3.16

	crushing=Ca+Nymphaea
	55.98
	3.54

	crushing=Ca+P+fish+Nymphaea
	56.61
	4.17

	crushing=P+fish+Nymphaea
	56.90
	4.47

	crushing=P
	61.00
	8.56

	crushing=Ca+P+fish+density
	61.60
	9.18

	crushing=Ca+P+fish
	62.88
	10.44

	crushing=Nymphaea
	63.19
	10.76

	crushing=fish+Nymphaea
	63.28
	10.85

	crushing=fish
	66.78
	14.35

	crushing=Ca
	68.31
	15.88

	crushing=density
	73.01
	20.57


